~\

GENERAL NOTES SECTIONS 7. 1"X2"X0.045" NON-STRUCTURAL MEMBERS SHALL BE 4. ALL DETAILS ON THESE DRAWINGS ARE ENGINEERED 7 /’ﬂ: " _:s\\
ATTACHED TO HOST WITH 1/4"@ X 1-3/4" BASED ON INFORMATION PROVIDED BY THE M FA( Y,
EMBEDMENT & 24" 0.C. MASONRY SCREW FOR CONTRACTOR AND MANUFACTURER. _ ..n.t C ceeseonng 4 \vv
A. CONCRETE & FOUNDATION DESIGN: CONCRETE & EQUIVALENT SIZE WOOD SCREW WHEN 5. ANY DETAILS NOT SHOWN ARE TO BE ENGINEERED . & .uO... VICE I 0 2
1. ALL CONCRETE AND FOUNDATIONS ATTACHED TO IN WOOD & #10X 1/2" EMBEDMENT SMS OR TEK BY A LICENSED P.E. IN ACCORDANCE WITH STANDARD ~ s S s =
THE HOST STRUCTURE SHALL HAVE A PRE SCREWS IN ALUMINUM MEMBERS TYPICAL. ENGINEERING PRACTICES. ~la s No g
INSPECTION. D. FASTENERS: 6. WHEN ATTACHING TO FASCIA, THE HOST STRUCTURE =|®: : wommw V=
2. ALL CONCRETE GRADE BEAMS AND FOOTINGS SHALL ™7 ™4[ AG BOLTS SHALL CONFORM TO STAINLESS SHALL HAVE AT LEAST A 2"X4" FASCIA AND ROOF -0 ® tC =
BE 3000 PSI MINIMUM. STEEL TYPE 300 18-8, WITH STANDARD FLAT TRUSS SYSTEM. CONTRACTOR SHALL VERIFY THIS g} B L MHA - iy
3. ALL CONCRETE FILLED SUPPORTED SLABS SHALL BE WASHER UNLESS MANUFACTURER GALVANIZES AND IF SMALLER, CONTRACTOR SHALL ERING - n‘ua.. < ATE OF S#~.
2500 PSI MINIMUM, 3 1/2" NOMINAL THICKNESS. BOLTS SPECIFIES FOR USE WITH ACQ PRESSURE STRUCTURE UP TO A 2"X4" FASCIA AND ENSURE LESS Ac%<o e~
4. FIBERMESH (3/4" PER CUBIC YARD MIN.) MEETING TREATED WOOD. THAN A 2'-0" OVERHANG. 1 O %, RIDP o & S
APPROPRIATE ACI AND ASTM REQUIREMENTS MAY BE 5  yEx BOLTS HAS TO BE ASTM A 325, PLATED WITH 7. FBC PLANS & ENGINEERING SERVICES INC. DOES NOT % G.\O “®0504000® AVA.\ O
USED IN LIEU OF WELDED WIRE MESH STANDARD FLAT WASHERS AND NUTS. WARRANT, EITHER EXPRESSLY OR IMPLIED, THE .\\.\ N
5. ALLSLABS ON GRADE SHALL BE A MINIMUM OF 4" 3. ALL CONCRETE SCREWS SHALL BE, SIMPSON, HILTI, QUALITY OF THE CONSTRUCTION, AND I§ NOT /i /
THICK WITH FIBERMESH. RAWL, TAPCON, REDHEAD, DYNABOLT, PORTECT OR RESPONSIBLE FOR THE INTERPRETATION OF DESIGNS HN
6. ALL REINFORCING SHALL CONFORM TO ASTM A615, APPROVED EQUAL. AND END USE BY THE CLIENT/CONTRACTCR. AL ENGINEER JEAL
BE GRADE 60 (60 KSI MIN.) DEFORMED BARS, #3 BARS 4 ALL METAL TIES AND ASSOCIATED ACCESSORIES 8. CONTRACTOR TO VERIFY FEMA FLOOD ZONE OF THE e | =] 2|5 |
MAY BE GRADE 40 SHALL BE HOT DIPPED GALVANIZED. PROPOSED STRUCTURE LOCATION TO ENSURE el 2|le8|8|8
7. ALL OVER POUR CONCRETE FILLED SUPPORTED SLABS 5 ALL LAG BOLTS SHALL HAVE A MINIMUM STRUCTURE IS NOT WITHIN SPECIAL FLOOD HAZARD m oot - R s
SHALL BE 3000 PSI MIN., 2" MINIMUM. THICKNESS. EMBEDMENT OF 8X BOLT DIAMETER INTO AREAS. = [ | Edl [l ol B
8. SOIL BEARING PRESSURE SHALL BE A MINIMUM OF STRUCTURAL FRAMING (G=.42 MIN.). H. MISCELLANEOUS: K &
1500 PSF. 6. LAG BOLTS AND SCREWS INTO WOOD FRAMING SHALL 1. ALUMINUM ADDITIONS ARE NOT TO BE INSTALLED o | |2 2
9. THF CONCRETE SHALL CONFORM TO ASTM C94 FOR BE PROVIDED WITH PILOT HOLES HAVING A ON A MANUFACTURED HOME, TRAILER HOME, OR SCREEN ENCLOSURE w52 |8 | &
THE FOLLOWING: DIAMETER NOT GREATER THAN 70 PERCENT OF THE PRE-FAB HOME. IF THE EXISTING STRUCTUREISONE | DESIGN DATA: (SITE SPECIFIC DESIGN INFORMATION) Ol@#lalE|g m
9.1. OPC (PORTLAND CEMENT TYPE 1,- ASTM C 150). THREAD DIAMETER OF THE BOLT OR SCREW. ALL LAG OF THESE, A SEPARATE 4TH WALL SUPFORT SYSTEM 1. ULTIMATE DESIGN WIND SPEED Vult, (3 SECOND GUST): 130 MPH = W 2 2 = 5
9.2, AGGREGATES - #6 STONE , ASTM C 33 SIZE NO. 67 BOLTS AND SCREWS SHALL BE INSERTED IN PILOT MUST BE ENGINEERED SO THAT NO ADDITIONAL NOMINAL DESIGN WIND SPEED Vasd: 101 MPH SR = w ..Nr e =
LESS THAN 3/4". HOLES BY TURNING AND UNDER NO CIRCUMSTANCES LOADING IS PLACED ON THE MANUFACTURED HOME. |,  prow camEcORY: 1 S|E|=|2|E
9.3. AIR ENTRAINING +/- 1% - ASTM C 260. BY DRIVING WITH A HAMMER. IF ENCLOSURE CONTAINS A SWIMMING POOL OR SPA, | 2 v oundeor B =
9.4. WATER REDUCING AGENT - ASTM C 494, ALL EXPANSION ANCHORS SHALL BE DESIGNED IN THE ENCLOSURE SHALL COMPLY WITH RESIDENTIAL 3 ' .} % B
9.5. CLEAN POTABLE WATER. ACCORDANCE WITH THE SPECIFIC MANUFACTURER'S SWIMMING BARRIER REQUIREMENTS OF THE 4. WIND LOADS: Z LB %58
9.6. OTHER ADMIXTURES SHALL NOT BE PERMITTED. REQUIREMENTS AND ALLOWABLE LOADS AND SHALL FLORIDA BUILDING CODE 8TH EDITION RESIDENTIAL SCREEN ROOF: 6 PSF — EERR g2
10. METAL WELDED WIRE SHALL CONFORM TO ASTM A ONLY BE APPLIED IN CONDITIONS ACCEPTABLE TO R 4501.17 IN ITS ENTIRETY. SCREEN WALLS (WINDWARD): 23 PSF =4 w2 2 3 |m. m.
185. MANUFACTURER. FASTENERS SHALL BE A MINIMUM DOOR LOCATIONS MAY BE DETERMINED IN THE FIELD SCREEN WALLS (LEEWARD): 20 PSF m El £3 28&z
11. PREPARE & PLACE CONCRETE ACCORDING TO OF SAE GRADE #5 OR BETTER ZINC PLATED. BY CONTRACTOR. SOLID ROOF: N/A = I5m W & M =4
AMERICAN CONCRETE INSTITUTE MANUAL 8. ALL FASTENERS CONNECTING ALUMINUM 4. IF PAVERS ARE UNDER ALUMINUM MEMBERS THEY — RRRIE R
STANDARD PRACTICE, PART 1, 2, & 3 ALONG WITH COMPONENTS OR PRESSURE TREATED LUMBER ARE SHALL HAVE EPOXY ADHESIVE TO CONCRETE OR IF 5. FACTOR APPLIED TO SCREEN WIND LOADS FOR 18X14X0.013 (4] 5 &
HOT WEATHER CONDITIONS RECOMMENDATIONS. STAINLESS STEEL TYPE 300 18-8, UNLESS USING GROUT, ENSURE BONDING AGENT IS USED OR EQUIVALENT DENSITY SCREEN MESH: 0.88 =z m i = m ot
12.IF UTILIZING EXISTING CONCRETE FOR FOUNDATION, MANUFACTURER GALVANIZED BOLTS SPECIFIES FOR FIRST AND ADHERED WITH MINIMUM 3C00 PSI 6. FACTOR APPLIED TO SCREEN WIND LOADS FOR ALLOWABLE = P.m 8 OCOm=RS
4 . 8 FE=8c
CONCRETE SHALL BE A MINIMUM OF 4" IN THICKNESS, USE WITH ACQ PRESSURE TREATED WOOD, OR GROUT. STRESS DESIGN: 0.6 & Z < Bl =d
VISIBLY FREE OF ANY STRUCTURAL EXCESSIVE OTHERWISE NOTED ON PLANS. 5. SCREENING MATERIAL SHALL BE 18X14X0.013 OR ; : g = .
CRACKING, SPALLING OR OTHER DETERIORATION. 9. ALL FASTENERS SHALL COMPLY WITH ASTM A153. EQUIVALENT DENSITY SCREEN MESH ONLY UNLESs | 7- LIVE LOAD: v L
B. MASONRY: 15, ALL, CONNEGTORME SHAL L COMBLY WAITH ASTM AEEH NOTED ON DRAWING S.2. 300 Ib. VERTICAL DOWNLOAD ON PRIMARY SCREEN ENCLOSURE MEMBERS. z % &
1. CONCRETE MASONRY UNITS (CMU) SHALL BE CLASS G-185. 6. ALL STRUCTURAL POST SHALL BE ANCHORED TO AN 200 Ib. VERTICAL DOWNLOAD ON SCREEN ENCLOSURE PURLINS. < o =
STANDARD HOLLOW UNITS AND SHALL BE 2000 PSI 11. FOR SMS, THE MINIMUM CENTER-TO-CENTER EXISTING/PROPOSED CONCRETE FOUNDA 'ION FOR 10 PSF VERTICAL DOWNLOAD ON SOLID ROOF. H o & ] mm
MINIMUM BASED ON TYPE M OR S MORTAR. SPACING SHALL BE 3/4" AND MINIMUM UPLIFT PURPOSES. 8. SCREEN ROOF TYPE: HIPPED GABLE - g =2 B .am
2. ALL MORTAR SHALL BE OF TYPE M OR S. CENTER-TO-EDGE SHALL BE 1/2" UNLESS NOTED 7. TORNADO CODE NOT APPLICABLE TO RISK CATEGORY 1 | 9. SOLID ROOF TYPE: N/A O .m & ()]
3. ALL GROUT SHALL BE 2000 PSI MINIMUM AND HAVE OTHER WISE. AND RISK CATEGORY 2 STRUCTURES 10, EXISTING FOOTING (MIN. 12"X 12" LINEAL FOOTING) MEETS THE REQUIREMENTS TO RESIST m ﬂ ) m
MAXIMUM COARSE AGGREGATE SIZE OF 3/8”, E. REFERENCE STANDARDS: (CURRENT EDITIONS OF) 7.1. ASCE/SEI STANDARD 7-22, FIGS. 32.5-1, 32.5-2, AND THE UPLOADS FOR THE PROPOSED STRUCTURE.,
4. PROVIDE CLEAN-OUTS FOR REINFORCED CELLS ASTME 119 = G.2-1 THROUGH -4
CONTAINING REINFORCEMENT WHEN GROUT POUR ASTM E 1300
EXCEEDS 5'-0" IN HEIGHT. ASCE 7
C. ALUMINUM: u i ; 5
1. ALL STRUCTURAL ALUMINUM SHALL CONFORM TO w”mmﬂcn wmwﬁw.ﬂﬂzﬁ% SREIREIEERR ALUMINUM STRUCTURAL g .
THE MINIMUM REQUIREMENTS OF 6005-T5 FOR ASTM C94 _ Z c MN g8
ALLOY WITH A MINIMUM THICKNESS OF 0.040" FOR ASTM C150 ngwma 3. 2=
2 %hmmm Mmm wﬂm»ﬂwmﬂwwm USED A MINIMUM e g m £ .
. ASTM C2 = & &
THICKNESS OF 0.024" SHALL APPLY. bw%z__ nAWM e HOLLOW mma..—.moz.uﬁx 2* % 0.044" m H Z O -H.m m mnm g Wr m M M
3. STRUCTURAL ALUMINUM DESIGN CONFORMS TO & e 588 i
“PART 1-A - SPECIFICATIONS FOR ALUMINUM wmﬂ MHM oy Aopicsyin S-2 DRAWING mm z E S2
STRUCTURES - ALLOWABLE STRESS DESIGN" OR THE FLORIDA BUILDING CODE 8TH EDITION 2K 5: 2°X 5" X 0.050" Eank ox
“PART 1-B - SPECIFICATIONS FOR ALUMINUM (CHAPTERS 16, 20 & 23). 3X3: 3"X 3" X 0.125" w: w U mﬂ.m: _Lm =T3S D3
STRUCTURES - BUILDING LOAD AND RESISTANCE F. ABBREVIATIONS: ? :
FACTOR DESIGN" OF THE ALUMINUM DESIGN MANUAL THE ROLLOWING LIST OF ABBREVIATIONS IS NOT OPEN BACK SECTIONS S-4 DETAILS
PREPARED BY THE ALUMINUM ASSOCIATION, INTENDED TO REPRESENT ALL THOSE USED ON THESE 1%2 17X 2" X 0.040"
INCWASHINGTON D.C. THE FLORIDA BUILDING CODE  ppaowINGS, BUT TO SUPPLEMENT THE MORE COMMON 1X3: 17X 3" X 0.045" ,
8TH EDITION (CHAPTER 16 STRUCTURAL DESIGN & ABBREVIATIONS. ’ ’ MI m U m -H-bh rm
CHAPTER 20 ALUMINUM), 1. TYP -- TYPICAL SNAP SECTIONS
4. WHERE ALUMINUM COMES INTO CONTACT WITH 2. SIM -- SIMILAR o } & <
STEEL, OR PRESSURE TREATED LUMBER PROVIDE 3. UON - UNLESS OTHERWISE NOTED . “ wwnm . m wm waw m g
DIELECTRIC SEPARATION. 4. CONT -- CONTINUOUS 2% 4 SMS- .N... X4 % o.c&m._ an) o
5. ALUMINUM MEMBERS SHALL BE STITCHEDWITHNO 5 yIF-. VERIFY IN FIELD ol 5520000 s S
LESS THAN #10 SMS 6" FROM THE ENDS AND 12" ON G RESPONSIBILITY: : ' S o |2
CENTER, IF USING #12 SPACING MAY BE 24" ON 1. ALLSITE WORK SHALL BE PERFORMED BY A SELF MATING (SME) 5 BlE|lz|s|¢s
CENTER. LICENSED CONTRACTOR IN ACCORDANCE WITH , e ; i gls|1glg|¢g
6. VINYL AND ACRYLIC PANELS SHALL BE REMOVABLE. APPLICABLE BUILDING CODES, LOCAL ORDINANCES, 2X4 m.,.__m” ......................... m.. X a.. & c.c.z.. X _“_L_..E._ £ g z m m m
THEY SHALL BE IDENTIFIED WITH A DECAL ETC. K5 S s e 25 K0, 050 ko0 AR © J|2|z|&|&
ESSENTIALLY STATING "REMOVABLE PANEL SHALL 2 CONTRACTOR SHALL VERIFY ALL DIMENSIONS AND e L T T
BE REMOVED WHEN WIND SPEEDS EXCEED 75 MPH". DETAILS, NOTIFYING ENGINEER OF ANY D 2% 8" X c._.._wm; X o.mna\ NOTES
DECAL SHALL BE PLACED SO IT IS VISIBLE WHEN DISCREPANCIES BETWEEN DRAWINGS, FABRICATED 4 27X 9" X 0.072" X 0.224"
PANEL IS INSTALLED. VINYL AND ACRYLIC PANELS ITEMS, OR ACTUAL FIELD CONDITIONS. e g 2" X 10" X 0.092" X 0.374"
MAY NOT BE USED IN FLOOD ZONE A. 3. THESE DRAWINGS REPRESENT THE ACCEPTABILITY —
OF THE 'SUNROOM' ROOM ADDITION ELEMENTS AS m ..Ha m TUBE SECTIONS
PROVIDED BY THE CONTRACTOR. — 2 Y U5




1X2 é 8
' 8-8"— LM 5'"-6"— 30" 90" N
| 8 . |k 8o
e / S S S vt x O
o] b< o b < i
N 2 BB i z 2
[ % b 5 B Z 5
o
Iz o =
-...____'| 2X10SMB CARRIER BM Jj g =<
tr — g s &
o
N e S g
.4
I
a_nh Ul o L4 P - 2z - =
8'-0 3'-0" e 27'-6 l et g
4X4X.125 (TYP) 7 . A2-11" 5
- S
=4
/| \ 34| % =
/- = [ 3 (] ] [ne]
) Efs i 3 2(0) B 3 3
/ \ A 27'-6" E
% B J{__ | 2x8sMB o
—
L \ H .
i 2 [n) [ne) o] I b 2
& \ € & $ ﬁ ] =1
I~ L] I~ P c-}
S 3 s s S S
q
, \ 2X8SMB g
0
\ 3
o
=
4X4X.125 \ K
= 1
%] 1
@ ] 2X8SMB »
[ ]
o o I ) ™ e z
£ > > > > >
S Eid i P B R =
2 s S s J S D
= e
=5 3 2X8SMB 0o Y
Sé ER XV
] = -1 LV
&
Z x5 N
L X8SMB o
4X4X.125 /
ﬁk / P > (> = > > ~
2 i | = ] - ~
o g g g < :
/ =, = =, = 2,
I 2X8SMB 7 ,_-g.L
I
£ =
L £y
© o
a o
i l 296" NS
M L 2X8SMB rambm
A / X S s s S 213
N / = = N ~ N =
4x4x.125\1 sty A
J’—4'-11" 4'-11" 4'-11"—J;4'-11" 4'-11" 4'-11" /
= ~
x N
e --"'"'| - /l\ H |""““- s =
a
— | 2X10SMB ARRIER BM i /7—
|
= ~
o i
| : :
e Se < =
= - — -
[J D i~
| L ol ol _,_.a\
9'-4" 9'-6" 9'-4"
il X2 il 7 Q .
4TH WALL o L4
o
f‘l| T ;p'"
JOB NUMBER: PROJECT FBC PLANS & ENGINEERING | P.E. OF RECORD NedOlN
= ~ & .'.' ...a QO ‘»
24,0528 283 Eiﬁg‘g‘;’%‘_’%ﬁgﬁ?ﬁ,‘;‘;ﬁ'ﬁi? : SERVICES, INC. DAVIDW.SMITH  FL53608 | 5 N C}_-" ) %, > .
Nz §F & 4z
g5 | DRAW DATE: 05/28/2024 ADDRESS: 5344 9th Street THOMAS L. HANSON FL 38654 T g T e It
I Zephryhills, FL 33542 OmMe Ny BiIN=
E o Land
Z | REVISION 1: CONTRACTOR PHONE:  (813)838-0735 1AN . FOSTER FL 93654 b4 %) c%:' me >
N 3 LAKESIDE ALUMINUM i 1-(866)824-7894 ' & 03'2-.. ~&
REVISION 2: E-MAIL:  erb@fcplanscom | JOEL FALARDEAU  FL 70667 %, VA A &
WEBSITE: www.fbeplans.com ) @/‘Pa.“'dtﬂ".-.() \.::o
REVISION 3: COA:  H29054 ERIK STUART FL 77605 f/f 7 ny? \\\
SLITIIIT AN




FOR WOODD:

[4) 1/4" LAG SCREWS @ 1-1/2" SPACING @ EA. GUTTER
BRACKET & (1)1/4" LAG SCREWS @ 12" 0.C. MAX.
MINIMUM EMBEDMENT SHALL BE 2"

FOR CONCRETE:

(3) 3/8" CONCRETE SCREWS @ 2" SPACING @ EA. GUTTER
BRACKET & [1) 3/8° CONCRETE SCREWS @ 24" 0.C. MAX.
MINIMUM EMBEDMENT SHALL BE 2"

{1) 5" OR 77X 6" WIDTH X 0.072" MIN. EXTRUDED
GUTTER BRACKET @ EA. BEAM & (1) GUTTER BRACKET
BETWEEN BEAMS, ALL BRACKETS W/ (4] #12 X 3/4" SMS
INTO GUTTER LIP

OPTIONAL

Z-BRACKET 0.250"

DPTIONAL 1" X 2" X 0.045" DPEN
BACK W/ (2)#12 X 1-1/2" @
BEAM & AT GUTTER @ 24" 0.C.__|

(MAY USE 2X2 IN LIEU OF 12,
USE #12 X 2-1/2" TEKS, SAME =
PATTERN APPLIES)

- seaw | ©©

OR
PURLIN ae

X2 K1/8"X
ALUMINUM ANGLE o0
w/ (4) #12 X 3/4"—

OO

SMS INTO BEAM ON
SRR TR 0000 | \(4)#12 x3/4 sMs
INTO GUTTER EA SIDE

OPTIONAL 1" X 2" X 0.045" OPEN BACK W/
(2)#12 X 1-1/2" @ BEAM & AT GUTTER @ 24"
0.C. (MAY USE 2X2 IN LIEU OF 1X2, USE #12 X
2-1/2" TEKS, SAME PATTERN APPLIES)

™ 5" OR7"SUPER
GUTTER

27X2°K0.062" RECEIVING CHANNEL W/
A MINIMUM OF [2) AND UP TO (4)
#10X 3/4" EA SIDE TO COVER
EXPOSED BEAM (ND MORE THAN 6
MAY BE CUT HORIZONTALLY)

oo
2°X2" OR 2"X3"PURLIN

(SEE 5-2 FOR SIZE) o n = 5¥0OR 7" SUPER

GUTTER

2'X2"X1/8" ALUMINUM ANGLEW/ (4) /
#12 X 3/4" SMS INTO PURLIN ON EA SIDE

NOTES:
1. 2X4 SMB BEAM ONLY REQUIRES 4" WIDTH GUTTER BRACKET W/ (2) 3/8" LAGS

GUTTER BRACKET & BEAM ATTACHMENT DETAIL
SCALE: N.T.S.

2" X_PURLINS (SEE 5-2 FOR SIZE) “ﬂm.__.u_._.ﬁ%mchmﬂnm;oﬂ e

ATTACHED TO BEAM w/MIN (4)
#10X1 :N,mzml/ / Eﬂmxzu\n
° /

QTY, (B) #5MS

o -]
el
My
vy
ﬂ(?AA ?ﬂ(my
&
NOTES:
1. TOTAL NUMBER OF SCREWS PER JOINT EQUALS 4 GUSSET .
TIMES "B". BEAMl prayg | B BT | 7SS
2. PLATE WIDTH SHALL BE DETERMINED FROM 7 1515736 16
ANGLE OF BEAM AND MINIMUM SPACE wm._ H\\‘m, EN .w“&“wm Hm._
REQUIRED."S3" IS MINIMUM PLATE WIDTH. 5 #1 1
3. GUSSET PLATES CAN EXTERNAL OR INTERNAL. | 2X6 | 1/8" | #12 | 9/18/36 | 16"
4, INTERNAL SCREWS FOR PURLIN CONNECTION 2x7 | 1/8" [#12 [10/20/40] 18"
mﬁu_m_.w.,mm_zn_.ccnu IN TOTAL NUMBER OF 2xa | 3716 |61z [14/28/56] 18"
5. ALL SPLICES WILL HAVE THE SAME PATTERN, 2X8 | 3/16" | #14 |12/24/48] 18"
6. ALL SCREWS SHALL BE SPACED EQUALLY, 2x9 | 3/16" | #14 [14/28/56] 20"
7. DETAIL SHOWS 2X6SMB WITH ¥ ALUMINUM 2X10| 3/16" | #14 |15/30/60] 20"

GUSSET PLATE AS AN EXAMPLE.

BEAM SPLICE GUSSET DETAIL
ALE: N.TS.

PURLIN

2"X2"X0.62" RECEIVING CHANNEL W/ (4)
#10%3/4" 5M5 EACH SIDE OF PURLIN & INTO-
CARRIER BEAM [MAY USE ANGLES EA SIDE)

2" X_"SMB EAVE RAIL MEMBER
(UNLESS OTHERWISE NOTED ON 5-2)
ATTACHED TO PURLIN W/ (2) #10 X
4" SMS THRU SCREW BOSS

1"X2"X0.045" OPEN BACK
ATTACHED TO EAVE RAIL MEMBER
#10X1-1/2" SMS @ 12" 0.C

SLOPED OR FLAT PURLIN CONNECTION DETAIL
SCALE: N.T5,

ROOF BEAM (SLOPED OR FLAT)

CARRIER wmbzl/.lr

2"X2"X0.125"
ANGLE EA SIDE

SEE TABLE BELOW FOR
SCREW SIZE & AMOUNT
[TYP EACH SIDE, EACH LEG)

1" K 2" MEMBER FOR SCREENING

#10X1-1/2"SMS @ 12" O.C. [MAX)
CONNECTING 1" X 2" TO CARRIER BEAM

"
ROOF | 2/ e
BEAM | ppp LG | 9T
SIZE
OF ANGLE
e | #12 | 4
x5 | #1z | 5
2%6 | _#1z | 5
2X7 #14 6
[2x6 | _#1a | 7
2X9 #14 B
7X10| %14 | 9

BEAM TO CARRIER BEAM CONNECTION DETAIL
SCALE: N.T.S.

OPTION #1

OPTION #2

EDGE MEMBER
OR PURLIN

(2] #10X4" SMS INTD SCREW
BOSSES FOR EDGE MEMBERS

0.125" FLAT FLATE W/
————(12)#10X3/4" 5MS5 OR (8] #14X 3/4"
SMS [MIN. 1/2° EDGE DISTANCE)

___EDGE MEMBER
DR PURLIN

:JT_l BOTH ENDS SIMILAR

a7 ]

27X 2" X PURLIN DEPTH RECEIVING CHANNEL
W/ (4] #10X3/4" EA LEG ATTACHING PURLIN
TO BEAM OR EAVE MEMBER (.060 REC.
CHANNEL MIN,)

||

ROOF BRACING CONNECTION DETAIL
SCALE: N.T.S.

HINGE LOCATION—J

2" X 2" EXTRUSION—1 p—2" ¥ 2" EXTRUSION

\\

DOOR

HINGE LOCATION—

[ /]

HINGE LOCATION:

NOTES:

1
2
3.

HINGES SHALL BE ATTACHED TO STRUCTURE W/ (4) #10 X 5/8" SMS MINIMUM.

DOOR SHALL BE ATTACHED TO ENCLOSURE W/(2) HINGES MINIMUM.,

HINGES SHALL BE ATTACHED TO DOOR WITH (4)#10 X 5/8" SMS. FASTEN A 1" X 2" X 0.044" TO
UPRIGHT W/#12 X 1" SMS @ 12" 0.C. AND WITHIN 3" FROM END OF THE UPRIGHT,

TYPICAL SCREEN DOOR CONNECTION DETAIL
SCALE: N.T.S.

=] - -+ ~ w
|8 |8 8|8
D ™ 0 ™ (=3 ~
W m o ~ ~
o ) <3 R = 3
O TS [T ™) e I’
L) =
[a] (=}
x| E|2 2
| 5| “ | 2 =
O| » 2| B m g
sl =2l2lg |2 |8
. o = = w &
Mlslslsla |
S|E|=S 2| &
G p—
W E
N r.ﬂra%mw.
= gEmRdg
(=4 FEotsE
25} SER=2 T8 .
T e <&
24} ﬂmmm@wm
N “WMJ\_._WWZ
i [T T k-3
&) 7 i
Z m TR 1 =
25 - m Nl“A
@ | e MMM.EO
&N < Eem=d
e
v L 2
z N G
< = &
i
S 3 &
CR Gacm
= Cm
= 7
(-4
oS
1
25 o2
SE 5=
GgEz (<3
R23E 8
=g =2
ot ZZ
mem Om
=SS O35
& 3
o S
/M 8
= =
o
= - ~ o
=z 5 g = z z
m [=} o (=] o
|m B z|lz|lz2|82
o =2 s B = =
-+ = = =
— (=] [ [ o
DETAILS

S5-3




SECONDARY ANGLE MIN 0.125"
THICK {NOT REQUIRED FOR 2X3

(4)-3/8" @ MACHINE BOLTS W/ 3/4" @ WASHERS
2ZX8 SMEB TO 2X10 SMB, [3) 3/8" @ MACHINE BOLTS
FOR BEAMS UNDER 2X8 SME, THROUGH CARRIER

UPRIGHT MEMBER) mu — _O_ BEAM AND POST
D h— OPTION #1 OPTION #2 /
SECONDARY ANGLE TO COLUMN | 1 f\» PRIMARY 2" X 2" X 0.125" ANGLE
(TYP EACH SIDE) \l RECEIVING CHANNEL
P (2) #10 X 3/4” SMS FASTENING (4)#10 xmmmmw:wc_mwm OR ANGLE EA. SIDE (typ)
| _—COLUMN TO PRIMARY ANGLE (TYP | |ﬁ (.0625" THICKNESS) |
(8) - CONCRETE SCREW ANCHOR INTO [\ o o EAGH SIDE) — — = ! 0 = — ©
SECONDARY ANGLE(TYP EACH m_uﬁ)/o M - A ]
(SEE TABLE) e E =
< 17X 2" BASE MEMBER (TYP — == 0 — — = =
™~ / . J/mbn: SIDE) [ ] @ =
- ] X2 OR27X3"_ | FOR RECEIVING CHANNEL: TOTAL (8) SCREWS
/ a4 ¥ i PURLIN OR GIRT (2) #10% 3/4" SMS (TYF) INTO GIRT/PURLIN & @
ANCHOR SPA [MIN) L - {1)- CONCRETE SCREW (SEE TABLE) [4) #10X 3/4" SMS (TYP) INTO UPRIGHT/BEAM
(TYP){SEE TABLE) - ANCHOR INTO PRIMARY ANGLE AND @ FOR ANGLE: TOTAL (8) SCREWS.
/)I < - 1/4" @ CONCRETE SCREW ANCHOR @ 24" [2) #10% 3/4" SM5 (TYP) @ EA. LEG = o)
3" :.\:z.\. 0.C. BETWEEN COLUMNS [TYP EACH SIDE)
NOTES:
77 ARG 575 g - NUMBER OF ANCHORS "B IS EACH SIDE INTO THE SECONDARY a
/ / ANGLE AND DOES NOT INCLUDE THE ANCHOR INTO THE 1X2. (OPTIONAL) 1°X 20 &
E
coLumn | CONCRETE SCREW |5 wMiNIMUM EMBEDMENT OF ANCHORS INTO CONCRETE FOOTING MEMBER FOR SCREENING &
SIZE ANCHOR SHALL BE 2-3/4" AT ALL UPRIGHT LOCATIONS, ALL SCREW LENGTHS USE #I0X 1-1/2°SMS @ =
wge |MINIMUML A7 UPRIGHT CONNECTIONS SHALL BE OF SUFFICIENT LENGTH FOR R S e e
SPACING | REQUIRED EMBEDMENT INTO CONCRETE FOOTING WHEN A PAVER FosT EARRIEI HEAM & SHET
2X3-1/4"] 0 0 DECK IS PRESENT.
TRy 3|3 CONCRETE SCREW ANCHOR DESIGNS ARE BASED ON THOSE LISTED j ; o |
3 ON §-1, D. FASTENERS, OTHER BRAND & TYPE SHALL BE APPROVED -t
2X5-1/4 1 El BY ENGINEER. N\ -
2X63/8"] 1 3| 4 2X3W/1X2 CORNER POST SHALL REQUIRE SAME BASE o T —
2X7-3/6" 1 o CONNECTIONS AS 2X4 SHOWN IN TABLE. KICK PLATE ATTACHED TO -SNAP OR SELF MATING OR = |
5. IF FOR AN IN-FILL, TOP OF COLUMN CONNECTION SIMILAR IF ALUMINUM MEMBER W/ (1}—" ; ; HOLLOW A HORIZONTAL BEAM ON
2X8-3/8"| 2 3 CONCRETE LINTEL, #10KX3/4" @ 18" 0.C oS IS SIDE (IF REQUIRED)
wa3e | 2 & |6 IFWOOD LINTEL/DECK, DOUBLE LEDGE REQUIRED (MIN. 3 %) MAY / NOTE:
- . SUBSTITUTE LAG SCREW FOR LDT FOR BOTH PRIMARY & y, 1, PERPENDICULAR CARRIER BEAM: USE 0.125" RECEIVING CHANNEL WHICH WILL
2X10-3/8 2 4.5 SECONDARY ANGLES, / ) . ; (] _ CONNECT TO THE POST W/(4) 3/8" THRU BOLTS USED FOR THE PRIMARY CARRIER
7. 2X2X.045 DOOR JAMB MEMBER SHALL CONNECT SIMILAR TO 2X3 V- BEAM, THEN USE (3) 3/8"9 MACHINE BOLTS W/ 3/4"0 WASHERS TO ATTACH THE
MEMBER. NoOTES: PERPENDICULAR CARRIER BEAM TO THE RECEIVING CHANNEL.
1. KICK PLATE TO BE APPLIED TO UPRIGHT CHAIRRAIL OR GIRT IF 2. HORIZONTAL BEAM DETAIL WILL BE PROVIDED IF NEEDED.
APPLICABLE
2" X 3" OR LARGER UPRIGHT TO CONCRETE W/WO0 PAVER PURLIN OR GIRT TO BEAM OR POST DETAIL BEAM TO POST DETAIL
SCALE: N.T.S. SCALE: N.T.S.
DETAILS
SCALE: N.T.S
{4) - (51) © CONCRETE POST
1"X 2" X 1/8° ANGLE [4)#12X 3/4" SCREW WITH 2-3/4" SIZE
(8) #14 X 3/4 SMS SMS (TYP TOP AND SIDE EMBEDMENT (MIN. EDGE per | () | (HH) [ (51) f (52)
| ey ) DISTANCE FROM DECK
N 5 EDGE=3") PLAN
o ° | MINT | ¥x3'| 2 | 4 | ¥ | 2
° fm T1° axel 2 [ & |3 | 2
—0 [H]}-3/8" @ MACHINE BOLTS iy " "
/.{.m- DIA. STAINLESS 1/8" ALUMINUM PLATE WITH WASHERS OR (HH) 6"X6 3 B w 4
3/8° 0 ADJUSTABLE STEEL CABLE —0 @45° ANGLE W/ 1° #14X 3/47 SMS
o MMM& P— =y s BREAK @ 90° W/ 5/16" 3"K3"X 0.125" ANGLE
el . EYE BOLTW/ LOCK NUT (EXTERNAL OR 1" X 2" OPEN BACK
° TENSION SIDE VIEW w_____cw_.._.ﬁmrUmU RTAINLRSS STURL EYE o & WASHER EA SIDE INTERNAL) OR 0.125" ANCHORED TO CONCRETE
{4)- (51) @ CONCRETE RECEIVING CHANNEL W/ /47 X3-1/2° .
S _ SCREW WITH 2-3/4" MASONRY ANCHOR - &
STAINLESS " EMBEDMENT (MIN. EDGE - MAX EACH SIDE OF POST
STEEL CABLE _ RI @ (MIN) WASHER BENEATH NUT PP DISTANCE FROM DECK AND 24" 0.C. MAX
] | NOTES: —@1" 0L N EDRE=3:)
) ) WHEN USING CORNER
vmwﬁm__,mmk 2°X2°X 1/8" EXTRUDED ANGLE o o CONNECTION OPTION #2

4" NOMINAL SLAB MINIMUM

SIDE VIEW

ON 45° ANGLE

CONNECTION CABLE MUST BE
WITHIN 6" OF CORNER OR

OPTION #1 TOP VIEW PRIMARY MEMBER. OPTION #3
pe N L LR F 3 OPTION #2
/ . 2"X2"X.125'CLIP MAY BY PLACED ON TOP OR §IDE OF S
il s
*. DISTANCE FROM TOP OF SIDE OF CONCRETE. [ _TOP OF CONCRETE
TOP OF CONCRETE A
il 2500P81 - 4 i i} "* ; 1-1/2" X 5-1/2" ALUMINUM | a
CONCRETE : |.*.¢ STRAP W/ (2) 1/4"0 X 3° . :
W/WELDED =~ [RuM4eis MASONRY ANCHOR (MIN™= vz %%
) WIRE OR - .-.......l;....lﬁwcwww%zazcx 2-3/4" EMBEDMENT) ol
- L PBERMESH g e O e e A
I \ ’ a
OPTION #1 OPTION #2 8 X 8" LINEAL FOOTING /] :

CABLE CONNECTION AT CORNER AND FOUNDATION

MINIMUM

OPTION #3

[USE WITH FOOTING ONLY)

SCALE: N.T.S.

{52) MIN. SPACING

r L)
NOTES: FRONT VIEW

1. CONCRETE SCREW ANCHOR DESIGNS ARE BASED ON TITEN HD (S1) @ SCREW ANCHORS,
OTHER SIZE OR TYPE OF ANCHORS SHALL NOT BE USED.

2. FOR PATIO COVERS AND CARPORTS: DISREGARD THE 1X2 OPEN BACK SCREEN MEMBER ON
THE FOUNDATION TYF.

3. MINIMUM EMBEDMENT OF ANCHORS INTO CONCRETE FOOTING SHALL BE 2-3/4" AT ALL POST

LOCATIONS. ALL SCREW LENGTHS AT POST CONNECTIONS SHALL BE OF SUFFICIENT LENGTH
FOR REQUIRED EMBEDMENT INTO CONCRETE FOOTING WHEN A PAVER DECK 1S PRESENT.

4, MINIMUM EMBEDMENT OF ANCHORS INTO CONCRETE FOOTING SHALL BE 2-3/4" AT AT ALL
UPRIGHT LOCATIONS. ALL SCREW LENGTHS AT UPRIGHT CONNECTIONS SHALL BE OF
SUFFICIENT LENGTH FOR REQUIRED EMBEDMENT INTO CONCRETE FOOTING WHEN A PAVER
DECK IS PRESENT.

5. DETAIL MAY BE FLIPPED AS NEEDED

5.1,  USE 1/4"X 3" LAG SCREWS IN LIEU OF CONCRETE SCREWS FOR WDOD HEADERS

ALUM. POST CONNECTION DETAIL
SCALE: N.T.S.

o - - r~ v
(= w wy b (=3
o o b o o
o|lR | 8| 8| R | R
m s |l |2 | & ]| &
= g
AEE =
= = =] =
= =
°l1Z|2|E|3]|3
w|s(2|¢|= =
o =] = ks b !
12|28
a = | = (=4 &
G Qv
in E
= . B.58s
eLﬁBM&
- g R og 8
o5 Frot sl
2] .mmww,m.m.4
75 o e 9E %S n
+ = m2E o
N 4P1m-w.mwm
— feels *
€] 7] &
Z, m E 4% .
. Z .28 <
EC 8 Mumwo
&N < B iz J
=
122 IS
|
< & 2
- & m
A > 85
= & o o
B
(-4
g1
[8)
B3 s
—
=3 (=}
= =5
o2 ]
oeE® MA
EUUY 155
{7 Bl =] [ =]
Y ASs za
Eans ok
aERS o3
& 3
= 8
£ g
= 2
=2 oglE| s al s
=0 < = = =
g|15|lc|g|s
m = (zl2|2 2
o @ M & e m
P— N [=1 - 4 (-4 = 4
DETAILS

S-4




CHART #1 CHART #2
#12 SCREWS | #14 SCREWS BEAM |12 SCREWS [F14 SCREWS
34 I 3/F QTY. QTY.

Z'%4" SMB 8 6

S~ 2"X5" SMB 8 6

~ Z'X6' SMB 10 8

~ 2°X7" SMB 10 8
Z'X8" SMB 12 10

SELF-MATING BEAM = . <
SHALL BE NOTCHED o~ % 2"X9" SMB 12 10
FOR =§a§|/ & 2'X10° SMB| 14 12
<
N ’ L 8 27 X 27 EAVE RAIL SECTION
% {UNLESS OTHERWISE SHOWN ON 5-2) -
(o] s ; ATTACHED TO BEAM w/ (3) 10X 2"
/ ' SMS INTO SCREW BOSS
l// o o n _ xn 1" X 2" OPEN BACK EAVE RAIL ATTACHED TO
UPRIGHT w/(2) #10 X 1 A" SMS INTO SCREW
~ 5 00 BOSS
/.. c P /lt“_.ﬂ_u:.vm. SMS 24" C/C
/X 3/4" SCREWS
I~~—[SEE CHART#2 ABOVE FOR QTY.)

4" [MIN] UPRIGHT e

2"X2" X0.045" W/ (4)#10K2"

THRU SCREW BOSS AND (2) #12 X 3"
INTO GUTTER

OR-

17X2Z°X0.045 W/ (2)#10K2"

THRU SCREW BOSS AND (2) #12 X 2*
INTO GUTTER & (1) @ 24" 0.C EA SIDE.

ALL SCREWS SHALL BE SPACED EVENL)Y

2" X 2" X 1/8" X2" ALUMINUM
RECEIVING CHANNEL MINIMUM (4)
#12 X 3/4" SMS EA.SIDE INTO BEAM &
[4) INTO GUTTER OR 2"X2"X0.125 o
. (4) 1/4" LAG SCREWS @

ANGLE W/ (4) # 12 X3/4 EA LEG (TYP) oo Z:.%E_,a@?

- —— . _ GUTTER BRACKET & [1)1/4"
(1) 5" OR 7"X 6" WIDTH X 0.072" MIN. EXTRUDED GUTTER _Vr_pn SCREWS @ 12° 0.C. MAX.

5" DR 7" SUPER
GUTTER

FORWOOD:

BRACKET @ EA. BEAM & (1) GUTTER BRACKET BETWEEN BEAMS,
ALL BRACKETS W/ (4) #12X 3/4° SMS INTO GUTTER LIP b e
NOTES: FOR CONCRETE:
1. "N" IS DISTANCE FROM EDGE OF BEAM. (SEE CHART #1) (3) 3/8" CONCRETE SCREWS
2. FOR SLOPED BEAMS, MAINTAIN ALL SCREW SPACING 2" SPACING @ EA. GUTTER

FROM EDGE OF BEAM. Moxnm%aw%mwmmwﬁ@ 2%

3. PURLIN CONNECTION IS SIMILAR TO "C" DETAIL St
EMBEDMENT SHALL BE 27
TRANSOM TO SUPER GUTTER ROOF DETAIL
SCALE: N.T.S,

\\“Illl"ln

Gi
=] - - ~ (7]
=1 wn w o (=3
E|E|8|8|8
D wy (3] [+ ~ ~
zlgle|le|=2]e
= 3
2| E |2 5
AHEEEHE
| =lal&g|5]|3
Ml1a|s|BE|E|6
o = =18 =
S|E|l=|2| 8
3
N ﬂﬂsmmx
~ EEETES
=3 <R
E=®2 n B O
= §5858y
IERE9ER
z mepTEEN
j— [T = T £ 3
&) m G
z |8 s sk,
AR THE
Z
2. g2
=z
&)
< = =
- <
R 8
O & =
M e
B @1
(-4
2 <
mm
g3 <E
ZE GE
2D Cw
EF=— MA
REOE 8
e =2
CEES ZZ
EEm¥ ok
aESS o3
ol <
g |
/m S
o
= v
@ - ~ o
=z N = = = =
M & m =3 =T
vl (7] w v
© v |2lB|E|B
- 1] o] m
f— 2 (=1 e [ =4
DETAILS

S-5




